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IIT Semester B.A./B.Sc./B.Sc. (Fc.Sc.)/B.P.A./B.S.W. Examination,

Nov./Dec. -2017

(Semester Scheme) (2016 onwards)
ENGLISH LANGUAGE (Paper - I1I)

Things Fall Apart and Language Component

Time : 3 Hours Max. Marks : 80

1. Answer two of the following : [2 x 10 = 20]
a) Why i_s Okonkwo exiled? Describe his life in exile.
b) Describe the significance of New Yam festival.
c) How do the missionaries influence the Ibo people?

2. Answer two of the following : [2 x 10 = 20]

a) Sketch the character of Nowye.

b) Show, how Obierika emerges as a very humane and mature character in
“Things Fall Apart”.

c) Write a note on Ekwefi and Ezizma.

3. Write short notes on four of the following : [4 x5=20]

a) lkemefuna

b) Settlement of disputes

¢) Marriage customs of Ibo people.

d) Uchendu

e) Reverend James Smith

f)  The tale of the tortoise and the birds.
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4. Language Co ent ‘ o "
a)  Fillin the blanks with appropriate tense forms :
)  Sunday a holiday. (to be)

i) They have the book. (write)
iii) India independence in 1947. (win)
iv) They are the campus. (clean)
V) Everydaywe __ from 10 am to 4 pm. (work)
b) . Choose the correct verb which agrees with the subject [SXx 1= 5
1)  Every one of them _____ present. (were/was)
i) Oneofmyfriends__ inamultinational company. (Work/works)
iii) None of the students a scholarship (get/gets)
iv) A pair of socks ___ been wéshed.(have/has)

v) Both of them eligible. (is /are)
¢) Correct the following sentences:

[5x1=5)
)  Weleft our baggages in the cabin. ‘

i) He made a honest effort.

i) Africaisalargest continent.

The workers are scared about losing their JObS

V) He don’t attend the classes regularly.

Change the voice of the verb in the following sentences :
i)  Teacher conducts the test.

i)  She has broken the basket.

i) Close the door,

d) [5x1=5]

The songs are being recorded by them
V)  The birds were killed by the hunter,

PO®
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SI.No. 3518 Total No. of Pages : 4

ITI Semester B. A./B.Sc./B.Com./B.B.M./ B.S.W./B.P.A./
B.C.S. Examination, Nov./Dec. - 2017
(Semester Scheme) (2013 Onwards)

ENGLISH LANGUAGE - 111
“Swami and Friends” and Language Component

Time : 3 Hours] [Max. Marks : 80

SECTION - A
I.  Answertwo of the following : [2 x10=20]
a) Analyse swami’s life in albert mission school.
b) Give an account of the relationship between mani and rajam.

. ¢) How do coachman and his son deceive swami?
d) Sketch the character of Rajam

SECTION - B

II. Answertwo ofthe following: [2 X 10 =20]
a) Why do swami’s friends call him “tail”? '
b) How does the freedom movement change swami’s life?
c) Sketch the character of mani.
d) Write a note on the M.C.C.
SECTION - C
III. Answertwo of'the following: [2 x10=20]
a) Describe swami’s visit to rajam’s house. |
b) Narrate what Happened on the last day of the examination.
c) How does the swadeshi movement change swami’s life 7
d) Wirte short notes on the following
i)  Swami’s father.
ii) The head master of the board High School

L]
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ECTION - D

IV. a)  Change the voice of the the verb in the following sentences?.[S x 1 & ¢

)  Herepairs electronic items. (Change into passive)
if)  Swami was reading a book. (Change into passive)
if) ~ She has sung a song. (Change into passive)
iv) The lesson was taught by the teacher. (Change into active)
V)  ‘Swamiand friends’ was writtern by R.K. Narayan. (Change into active

b) Change the following sentence into direct / indirect speech, [5x1= 5|
1)  Manisaid, “I cannot give you this book”. (change into indirect Speech)
i)  “Whydoyouwant money now”? Granny asked. (Change into Indh-ect)
i) “Idonotknow anything about this”, Swami said.(change into indirect)
iv)  She said that she was a teacher. (Change into direct speech)

V)  He said that he would go to bengaluru the next day. (change into
direct Speech) -

or champagne to shamdy gatt?
d) Expand one of the following : [1x5
)  Prevention is better than cure,
i) Honesty is the best policy
iii) Knowledge is power.
HOIOI6)
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III Semester B. A./B.Sc./B.Com./B.B.M./ B.S.W./B.P.A./
B.C.S. Examination, Nov./Dec. - 2017
(Semester Scheme) (Prior to 2013)
ENGLISH LANGUAGE - III
‘The Guide’ and Language Component

Time : 3 Hours] [Max. Marks : 80
L. Answertwo of the following : | [2 X 10 =20]
- a) Givean account of Raju’s school Life and upbringing. ‘
b) Why was raju considered a model prisoner?
c) Whatrole does velan play in the novel?
d) Describe Rosie’s visit to the snake - charmer.
II. Answer MQ of the following: - [2 X 10 =20]

" -a) Give an account of the early life and collection of Rosie
b) What are your impressions of marco?
c) Write a note on the peak-house and it’s care-taker. Joseph
d) Describe the relationship between marco and Rosie.

II1. Answer two of the following: _ [2 x10 =20]
a) How does Raju help Rosie to become a successful Dancer?

b) Describe the Drought Situation in Mangala village.
c) Comment on the Ending of the Novel ‘the Guide’

d) How did raju become a tourist guide?

Language Component

IV. Answer either ‘a and b’ or ‘¢’
a)  Change the voice of the verb in the following sentences : [4x1=4]

i)  Ilike adventurous games.
if) She will complete the work.
i) Youmust tell the truth.

iv) She opened all the boxes.

3=
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b)

b)

[4 % 1=4)
Correct the following sentences :
i)  This carpenter is good at making M
ii) Yesterday is hotter than today.
i) I waited for a hour at the shop
iv) These flowers smells sweet.

OR

Correct the following sentences :
i) Hecarried his luggages the electric bulb.
i)y Honesty is a best policy.
iii) Itrainsheavily yesterday,
iv) March is a third month of the year.
v) Latha likes old songs, didn’t she?
vi) I stayed there since five days.
vi) She met her cousin sister

odern furnitures

[8x 1=8§]

viii) It was a excellent speech

Give One word substitutes : [4x1=4]
i) A child who has lost his parents.

ii) Absence of rain for a long time,

iif) A vehicle which Carries patients to hospital

iv) A period of ten years.

Rewrite the following sentences using the linkers given in brackets :[3 x1=3]
(Not only - but also, though, because)

i)  Nehruwas a politician, Nehru was a writer.

ii) He is poor. He is generous. .

iy Lathanever worked hard she failed in the examination.

Write a paragraph on one of the following : [1 x5=5]
i)  HumanRights

ii) Corruption

iii) Terrorism

0D

-4-

Scanned with CamScanner



11608 IEEREI V[-3229

S1.No. 06265 Total No. of Pages : 3
=080 B[ER zb.a./zn.aa./w.eg.a./w.a#.du{g 5/ PP,
(QF°.2.0%°.2.) TOCE, S3000f /B30t 2017
(@er s A¢e) (Freshers of Nov./Dec. 2017 and Onwards)
TRE R (VIF-4)
BOXC, BITT JYND

nahod: 3 notdned ‘ ﬂog esosnsd - 80
e 2017-18 Job WO QPN

XFS e SRR W3 Bozhtd — O (40 wonh)
Fl) ©) 2080 ARIATNNN BoWEE B3 DJOA: [4]
0) RN BRVKSPITEBRT w%@cm’

SANRTIBO0T ®EEoN
3300 IBER BewEoHTIN FOXRO Q0TDBRTORYTBID

BBV BOYOT, WO Sob ITee

SREEYSS BeM ABFLQRURT

32 DT RPRED BReNODOTEIBOTRFOF, OTOT
9) fagowmsbgdsﬁ 230

W OB BeBo3RTT

§3) DRI T, 330D ALY YD

5306335@3 0H03R OO

S3e80833 SPBEROBS

D oD I QuB B3 FF[O3

PT.O.

Scanned with CamScanner



11608

8) o IINeR OFPE WIN0:
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Z5) womd IJT wo30a: [10]
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g7) 2.0 TIR SvB0A: [10]
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9) wxTeY Powes ZR800eSeTT WwiB X R03PT ROTPF T, DWOR.

Z8) AT DTCPRYR L3Ted 2SoW0:  [2x5=10]
0) S3I WYBPoDLY AeodT T,
=
9) WRTeR.
ta .
&) Teapoodns A0FTR.
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SINo. 4619 Total No. of Pages :3+1 Map
IIT1 Semester B.A. Examination, November/December 2017
(Semester Scheme) (Freshers of Dec. 2009 - 10 onwards)
HISTORY
History of India from 1757 to 1858 (Paper-III)

Time: 3 Hours Max;Marks:SO

Instruction: Answer all questions.
DR JIACne ol

Long answer questions.
QETE Y303 TI.

Q1) Explain the causes and Results of the Battle of plassey. [15]
SRATCST TONH I TOTRRNT), DTOX.
OR/&w3s50
Describe the Anglo-Maratha wars.
songe oo m%ﬁﬁabi QTOA.

02) Explain the life and achievements of Ranjith Singh. [15]
ORs® Aons 2ems S mtﬁdﬁeﬁmﬂl DWOA.
' OR/&30
Describe the causes and Results of the Revolt & 1857.
1857 © Torfod soCranisd O] wammwm& DO,

Short answer questions.
830 V30T TN,

03) Ciritically Analyse the provisions of the Regulating act of 1773. [10]

1773 G, drbﬁdewon‘ OO0 mméosm*a'onl ad)aai-‘seﬁmh DFeax.
; OR/&Ta30 |

Explain the reforms of Lord Carnwallis.
COTF BT WD S xocpad:%ﬁ#a:ul WNTOR.

PTO.
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04) Discuss the merits
ddr:*aaa aﬂcjpéoda ASCE,

1 tem.
and demerits of Ryotwarl system.

ﬁmi‘@ﬁ@?&h 23287 R

OR/&@? -
4 Vidya Sagar as a social reforme;

Describe the role of Iswar Chandr Rg0®0 "w‘agaiéocl RO

Aswe Roeddoon SiEBBE0T DU

i four of the following. [4x5<
05) Write short notes on any e

FINIYNVY cdmRmente TOF BT

1) Albuquerq.
SEN

2) First Carnatic war.
SRToSe dords 03T,

3) Allahabad treaty.
SHOBLIO® &,aa;od.

4) Macauly.
T,

5) Development of Railways under the British.
DHC 203 §Y WO ¥RTA.

6) Mahalwari system.
ad:a'sga wqp 3.

06) Map question.

B T3 T8, [

On the outline map provided.
BRTT Sevo SFoHO
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Mark the three presidency states of the British Empire.
QT BRHE TR JAE, ToE TR, IHTSA.

1) Mysore.
SRR
~2) Bombay.
%500%.

3) Jhansi.
cR),

4) Nagapura.
JONENT.

5) Calcutla.
ﬁc%g.

6) Thiruchanapalli.
STOBTOTY,

Note:  This Questions is given for the benefit of Blind students instead of
map question.

Reus: 85 BFODR) ©0R AMPFTY SDHILORN FOTWT TYR WA
BRBEONG. |

Give an account of the Battle of Buxar.
LDl 5_553&)’60& 0B 2ToNd.
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' SL.No. 6536 Total No. of Pages :8
IIT Semester B.A. Examination, November/December 2017
(Semester Scheme)
ECONOMICS (Common Paper)
Mathematics & Statistics for Economics

Time: 3 Hours Max.Marks:80

Instruction: Answer all the parts
QAR LRNNYINe SVSOA.

PART - A
PAR] M)

Answer all questions. [10x2=20]

2oy JIFnene ww3dA.

|[Q1) What is a linear function?
=0$ Beado DOWTE DOTTEN?

02) What are variables?
Bonsd 0T3eN?

P3) What is a Null set? Give one example.
deg, No D0WTED? 200 TR TRB.

b{) State the power function rule of differentiation.

DIOTT PoZ ACHDBI, SPA.

bS) The total cost function is C=3x* +2x*+10x+5, when x=3 find the total cost.
2t 3033 WOWE C=3x"+2x +10x+5, SN, x=3 SNHTON i), BedS)
FOW &BOWO.

D6) What is questionnaire?
g.;jaa&aep_ DOW3EN?

07) What is tabulation?
Te3eg0e DOTTE?

PTO.
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8) Mention any two uses of Harmonic Mean. oy,
. X0% XooRO0DH CIRPYTETR HBRE waﬂ:mvﬁ%’ﬁa BROA
. . 10, 12.
09) Calculate median for the following data. x : 1,2, 50, 7,9,
3 YN ©od LoINER PIDI, 30T0&%BON0.

%y 1,2, 8,7.9,10, 12

010)Define Geometric mean.
2RENSCDH FTOROONT), FYTIA.

PART - B

wn - 0
Answer any six questions. [6 > 5 =30

CSRFTnte B JJACR VSO,

Q11)Explain the advantages of using Mathematics in Economics.
OPFoIBY Ned3 ToRT WYFoD RDIRVNTR), DW|OA.
= =

Q12)If A={2,4,6,810,12}B={2,3,58,9,11} and C={1,4,8,12,16} show tha

AN(BNC)=(ANB)NC.
wohsed  A={2,4,6,810,12}B={2,3,58,9,11} 3 C={1,4,8,12,16} escor
AN(BNC)=(ANB)NC 20z 30¢dA.

Q13)Solve the quadratic equation 2 . T,
X} -2x-24=0. B IFOD ﬁ&beﬁdi@ﬁ:‘»ﬁ)d TOBOA.

Q14)If X =30 — 5P - P? and P=2, find elasticity of Demand.‘
X=30-5P-P? = 2
P-P* shd, P=2 sndhaon Se@dod 3 MTTITD, SoR&RONC

Q15)Briefly Explain the methods bf collecting primary data,
TRPANT W03-OBNYR, Forkmds VRINIR, RogT=oN [0,
i) :

Q16)Find the range and co-efficient of ran .
ge of the foll
x:°25 32 39 46 55 75, Owing data

8 YNT 903 ©o3NeR T =3
A 2 AWWTT rbmoﬁaiabol FORHLAOWD.

-0

x: 25 32 39 46 55 75

o
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Q17)Calculate the Arithmetic mean for the following data.

89N3 €08 ©OBRYN ©OTRCIZ APROOHRY, BOE LACD.
x: [1500(800 [500 | 250|100
£ |10 {20 |70 | 100150

Q18)Find the quartile Deviation for the following data.

SUNS ©08 ©OBRON BNFFE DOSCH), FORLAD.
x |5 |10 |15 |20 [25 (30 |35 | 40
£ |1 |4 |8 |12 {14 |8 [5 |2

Answer all questions. [3 X 10 = 30]
NP JTJnene wOSOA.

Q19)A firm’s demand and supply functions are given as x =30 — 3P and x =9P —6
respectively. If the Government imposes a specific tax of Rs 2/- per unit on
the supplier, find the equilibrium price and output before and after tax.

20T emcs’ DT ZeRE N VEBTOID WOWBTNTY ©IVFW|IoN
x=30- 3Pandx 9P —6 Q0T :Jede:aﬁd 2,00Bed FoF TRy VRTFLOTI
e T3 0T T, 2008 RFR 3onod, AOATT, 301K a“moasﬁ
S J0ITW RND3REOT BG DB L3I @AY ﬁocéoao@o:w.

OR/&@ w0

A firm’s total cost function is given as C=3x*+2x*+5x+8, whenx =2, find
out the total cost, Average cost and marginal cost.

2,070 BT 2wk, a%z&cs VOWFTZ), C=3x"+2x2+5x+8; Q0T VCBCNT.
x=2 ap’&aﬁﬂ%ﬁd)mri 2063 dzs Noa.-ab 523 ma’o Nemosszsmﬂm

ORI BOWD.

Scanned with CamScanner



10223/L.C910 M-3608
2 and total cost functiop

020)A firms total revenue function is given as R = 40x—3x
as C = 16x + 8. Determine the level of output which maximizes profit.

20T YOTENT 2:43), STIIOD 2OWTBZ)Y, R = 40x-3x’ B, B[P aﬁowﬁdm
C=16x + 8 QO aea@amﬁ oaz;ﬁab nogReR emS'cS 3 aoamm

VNPFOA.
OR/&950

Discuss the nature and scope of statistics.
ROIDIORT FVNT B OHONT), 2328F A.
D = S o D 2

QZI)Calculate the mean, median and mode for the following discrete series.
3YNS WRSZ Beedrd BTRRO, DFF DB WIDFINTI, ORI BOWD.

Wage (inRs.) | 90 70 | 50 | 30 20 10
30RO Jn. N¥Y
No. of laboures| 2 4 5 6 2 1
TOENF FO :do;ﬁé

OR/&3w0

Compute the standard deviation from the following data.
39NT 908 LOBNPOT AONT DWOTOD, FOTWRRAND.

x S
0-30 9
30 - 60 17
60 - 90 43
90 - 120 82
120-150 81
150 - 180 44
180-210 24
x &
-4-
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10223/LC340

III Semester B.A. Examination, November/December 2017
(Semester Scheme)

ECONOMICS
Mathematics & Statistics for Economics
Time: 3 Hours Max.Marks:80
Instruction: Answer all the parts.
o] ZRnmeRe ev3ol.
PART - A
PALT Tl
" Answer all questions. [10x2=20]

e [INONL GIOA.
Q1) What is Linear Function? Give an example.
2Eetesm0 DoWT OB LVIRITH JeB.

tion? Write its general form.

02) Whatis Quadratic Equa
SAEeoDH REBTE DOBWTED? WTT SEEAEI BRTTR, 2T0W0.

03) If A=1{5,6,7,8,9,10}and B={2,4,6,8} find ANB
A={5,6,7,8,9,10}03) B={2.4,6,8} 8TT ANB 30RERBOND.

04) Whatis the meaning of market equilibrium?
SR, RSPV P 3eRD?

d
05) If y=3x"-4x*+10x-5, find E{-.

d
y= 36— 4" +10x-5, STS - FOTDLBOND.

— 10x + 5, find total Revenue when x = 3.

06) Iftotal revenue R = 4x?
c’% x=3e3T0N LWt eaacmajmﬂl

2830 s5T00D D0wd R=4x2—10x+5, &3
Fo@&EOND.
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Q7) Write any four limitations of statistics. ¥
RORIRT CIRYRTOR T 23, L0

08) What is a two dimensional diagram?
O-Joo3RmIE 233, 20TTe?

09) Find the median for the series
17,15, 18, 16,20, 19,22
De00rq Jeedrt TG FTY, FORLAWD.

Q10)Calculate the Range and Co-efficient of Range for the following data.
89NT ©os-woBRen HmS HE) HMSE HIEOTI, FORLEWD.

18, 22, 28, 30, 35 ¢

PART - B

o -0

Answer any six questions. [6>5=13

oSRPHmende ST JIFRYR YUSOA.

QI11)Explain the importance of mathematics in economics analysis.
SRFE DJeIBoDY ﬁséa‘saﬁé B DBIBI), DTOA.

Q12)Solve the following quadratic equation.
FINS BNFeod IWFToRT, TOBOR.

x}=12x+20=0-

Q13)If A={1,23,4567},B={2,4,6810},C={1,2,34,5} eswmon  show thi
AU(BUC)=(AuB)uLC
QOTD 30eDA.

QI4)Find out Average cost and marginal cost functions for the fol
function.
3UNT o) [P WoWIE FooRd B3 oad ACTP03 I g
0GHRIWD. e G S
C=10x3—5x2+8x—-10.

lowing total cos
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Q15)Explain the advantages of diagrammatic representation of data.
BZ03T JeaE ATRTEOD OERONIR), DB[OX.

Q16)Present the following data in a simple box diagram.
FINT 908 - e:x:;afr'hfa*out NTY ROy 0eai0w3n &R aﬁgﬁ@f’o.

Year Production
RIE SOIVT
2011 250
2012 280
2013 320
2014 300
2015 _ 350
2016 380

Q17)Calculate the Arithmetic mean for the following data.
BYNT ©0§ LOBNEN LOTTEIZ FTHROONT, TOBERBOWD.

Wage 100 120 | 140 | 160| 180| 200

86
No. of workers |12 10 8 7 8 5
[ SrsIpnlete] 30936

Q18)Write a note on Lorenz curve.
Sredoz’ JesBod), BB &3S ToWD.

PART - C
e — &

Answer all questions. [3 x 10 =30]

DY JJRERR GVZDA.
Q19)Given the demand and supply functions as x = 100 — 5P and x =25 + 10P

respectively, find the equilibrium price and quantity. Ifthe Government imposes
a specific tax of Rs. 3 per unit, find the new equilibrium price and quantity.
g3edd w3 TRGE VowINIR, TN x = 100 — 5P DB x =25 +
10P 0% JeBOONT BEE, ZDHIe0d 8BS I TRWNTR, FowERBAWD
2,000 $6¢ RFrdey) B cheILWS Hed dre. 3 303 ARFF IORODZY,
DOATT, BRR INIRCVT KBS W, TRNYR), B0RLROND.
OR /%0
If total Revenue function R = 8x* — 10x? + 5x _ 20, calculate total Revenue,

Average Revenue and Marginal Revenue when x =3.
2,63 o0 2028 R = 8x* — 10x* + 5x — 20, &Ny x=3 SN 28

STmcd, FOORD STRD FHa) ACTROZ STROBRTR, FOBEWBOND.

-7-
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f data. s
o HROA.

10223/1.C340

Q20)Explain the primary and secondary SOUT¢
©S0F-L0INY TRPNE DX t;:aeoda SRONIRY
.~ OR/&3=® 24 150+ 10 and the tota] Coy

Total Revenue function of a firm is R = 5 aximising output.
function is C = 10x2— 5x + 20. Find tl;e ggﬁgtxi 15x+ 10 0B 2ty 3,
20D VTINT i) S0 WO N i T IF
Qo8 C Efblo.r2 5y +20 &3 PRIy ﬁa%ﬁﬁ)"? “’N""am‘»{

FOTLHLAOWD.

Q21)Compute the mean and mode for the following) dastg-c%a ——
$9NT ©08-0BRYR VRO ) WFFRTE FOTT

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50
L0TNH 5
No. of Students | 12 10 9 10
DROFNY ﬁoc.‘tig5

OR/&30 .
Compute the mean deviation from median for the following data.
FENT ©0d - o3neR DFIO0T FTORO DBOBODT, FOBRBOND.

——

Wage (Rs.) 100 125 | 150 | 200 250 300 [ 400

..-“-m-:lnmuwum|mﬂlﬂliﬁli§illﬁﬁiﬁmmnmmmu!mm-r-nnml\

B3RO
No. of laboures| 8 7 6 8 10 6 5
BONF 50 :Jo.;ﬁ:5
o N
-8-
4 - —
£ oo prE b R i PREROES LI T

J
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Semester B i
(-SA(; Exam'“ation, November/December 2017
Mester Scheme) (O.S./N.S.)
. SOCIOLOG
Ind i iti :
1an Society Tradition anq Change - I (Paper - III)

Time:SHours ks %i
Max. Marks :

Instruction :  Apgyer all questions.
DR IInene wsos,
. Answer all questions. [4 x 5 =20]

QR TIRYRL wu3pa.

Q1) Write any five religious group in India.
OSRFTOTTR DD ToaF AeBrda), BToA.

Q2) Write a note on 'Moksha'.
‘Begs’ W7 3T 203000,

03) Mention the types of Muslim marriage.
BN DTOBR WANYD), S9A.

(Q4) Briefly explain the duties of 'Kartha'.
FBFI’ VOTOT Wi} ROFTION DTOA.

II. Answer any three questions : [3 x 10 = 30]

035RYTOBTR BRD TFNRYR YSDA.

05) Discuss the impact of West on Indian Society.
23008603 ARPRE BeS TBRIT THOBII), WBFA.

Q6) Explain the importance of Ashrama Dharma.

s FHFT TRNNFOHT, HFOR.
PTO.
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111

07) Examine the types of Divore gmois

o
S0R0 DRE-2Y BIT GRI

08) Explainthe characteristics of H

OBONY™
&LOTR VAT guond MRCS f Caste system.

ristics
09) Describe G.S. Ghurye's VIEWS ;‘;czl;;;a%e 309 rbs@vgsaﬁfia’a Bedry,
2. ox . Tookr cbRT BREREER

s of Hindu Marriage:

Q10)Discuss the recent change 23ER.

HoBR DTBEYS agfzéd wdmdémﬂmﬂl

Answer the following questions :
NS IJRenR wuBoA.

Q11)Explain the traditional features of Indian Socx;g; iy
25908203 RBPETE FOZEONT roee0Beon TRy
OR/&@w0 . .
Discuss the Varna system in traditional Indian Society.
-2 9
RCOTEOOWT s RRWHT Srer 3BFODTY 323F A,

012)Define joint family and explain its structural changes.
LY BENOWTR), FRIA, ©T3Y CBTOIT wdmaﬁﬁﬁ@aﬂoﬁl AAOH)
OR/&@w0 :
Analyse the recent changes in caste system in Indian contemporarn
society. '

AREdes R0E0d ABPHRTY BTG 0D AT WTRVHBRY)
Qe | N |

& & %
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2017

{11 Semester B.A. Examination, November/December

(Semester Scheme)
GEOGRAPHY
Regional Geography of the World (Paper - 11D

Time : 3 Hours Max. Marks : 60
[ustruction :  Draw maps and diagrams wherever necessary.

g Oga T By sy WIWO

PART -A
N - 9

not exceed 50 words.  [3 % 2 =10]

[ Answer all questions. Answer should
TBNLIY D0e0B08TYD.

oep TEfene Gv3DR. LWITH 50

Q1) What s Regional Geography?
woredd poneed T8, POTTER?
OR/&Tw0
What are homogeneous regions?
03BRT30H I3eB P0TETED?

02) Name the types of plains?
' éadmaid QAT BROA.
OR/&3=0

l What are relief features?
iAo h;drawﬂ#oddesia?

03) What are fold mountaions?

=88 JSFINW DOTTE?
OR/®B=0

What is Natural Vegetation?
mpaé ﬁﬁédris-' Q0TTEN?

PTO.
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. sl IS?
04) What are climatic B8 " 009!
climalc?

What is Dry iy 49

Ar] oodorre S°

05) What is Drainag® sg;s‘:em?
S0 33%, SO e

What is mixed farming?
203, Lemeod oomde?

PART-B
i~ 2
eed 100 words. [4 x5=

uld not eXC
i 16050809

II. Answer all questions AnsW
3oy 100 JoN?

DTY JJNRAINR gU30A. ¥V

al concept in Geography?

06) Explain the study of Region
NDINILONSIINN 0D TR,

BRReevTR SERODITY mogdeds TO
OR/®Bw0

Explain the major mountaions of the World.
TPons TR TIFINT, 303 DTWOA.

07) Explain the major climatic regions of the World?
SHous YRnd odurdre BFBRIR, POD JTOR
_ OR/®30 -
Explain the influencing factors of Natural Vegetation?
TRRAT FEIJNET oS T3 eI @o@ir{;(;[;- 2TO
N A,

08) Explain the Intensive farming?
0T &3 '
) emoﬂadm‘l 00D AFTo,

Scanned with CamScanner



Explain the Indus
BT %dn'abaa

O ORy

S of Japap

n .

e_ro'.i&?-’u.

Q10)Explain the field, sc

| _ 3 2
Q11)Explain the types of Natural Vegetation.

ARIADIAL xxﬁmrcs é&zﬁﬁ%ﬁm‘i WO,

Q12)Explain the Ko

ppen's classification of climate.
&mﬁa:dwd

SO0 adﬁreﬁcitaamc,L RWO.

013)Give an account of the

growth and distribution of Population of the World.
VWoBT asﬁ:domé &3

TR ) Boudotms, How Hmos.

014)On the given outline map of the World locate the fo

llowing :
&ra(%daﬁ AR T3 SFOHY %@éﬂ&"e@;ﬁ#&i meF

A

a) Rocky and Andies mountaion.
Oo8 ) G0ReX THEIrich.

b) Prairies and Pampas Grass lands.
T 0ex" DI Bowmor® BTN,

¢) Amazon and Nile Rivers.
SN Jo° IO,

d) China and Greenland Density of population.

B0 D) NETOROT" BIWOTTD TeSrisd.

& & X
-3-
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T -
g1.No. Dtll% T
ester B.A. cami o- '
(I Semester A./B.Sc. Eldmlnation, N()vember/TIO)tZll:I(::nObf Pagﬁi;
CRIMH\I(S(Emester Scheme) (New) .
OLOGYAND FORENSIC SCIENCE

Law of Prints and Impressions

rime: 3 Hours i
justructions: I)  Answer all questions. ax.Marks:

(1) a)
b)

| )2

b)

{03 2)

b)

DR JGACNR VIOA,
2)  All questions carry equal marks.
DR TNV TR 0T,

[ac)

Trace the historical dei’elopment of Finger Print Science.
2309 B0, DWPPH D8ToAE WYRIioh, TSR
OR/&Tw0

Describe the principles of Dactyloscopy.
0% BN, DPYFT FRO IZRTR), QWOA.

Describe Arch and Loop Pattern with neat diagrams.
woTmon HITRODNR FRIDTTYS 203y, Fowes,S BIOBONE
(BRVFNTR,) DHOA.
OR /&9® w0
fferent ridge characteristics with neat diagram.

Explain di
33reonn fone QDG ©Frnda, HHOR0.

90320

ment of latent finger print by chemical and Gaseous

Discuss the develop

method.
CoTR0RT  TIRWED DB, Y DL

0TI, LRI, Zea Wi, BBFA0.
OR /239

O3 ©eess 23890

servation of chance prints.

: thods of lifting and pré .
Explain the metho o siots 2 ;dodgz’naﬂ DORNTR, DFOXD.
es5od 3080 VTR ST . PTO.
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¢ in crime investigatiop,

10222 . Onanc
. int? Explain 115 e o) @BO TRR0D3 VWO,
04) a) Whatis a foot pr}?@q =00 A :
meciEng 20FUE T o o |
{ diagram and its IMPOTtance in ¢y,
b) Describe a Gait Pattern with ned = ﬁ
. 9 m
investigation. ﬁocb-ﬁéfa wj\ =e3F A, OR 33 3&33%6
S oA TADIA zsgdmo@ﬁ s@on = 5
2@t SmgRy dBOR-
, impression.
. tion of sunken tyre
05) a) Explain ﬂzﬁn;et:;); ;f;:;g‘;c ;oﬁﬁomd DEORBIY DWOR.
DODAT BT 2
OR /&30 i
) icle at the time ot accident? Expj..
- timate the speed of vehic =XPlaip,
b) - Howdoyoues 230 BRI, et OTOWRTRNIZRY Dty

eTT3E RoTHFTY @0
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I gemester B.A. Examination, November/December 2017
(Semester Scheme) (Old)

CRIMIIN OLOG'YAND FORENSIC SCIENCE
ntroduction to Forensic Medicine

e: 3 Hours
Max.Marks:60

qructions: 1)  Answer all questions.
DR JINMR LVIOA,
2)  All questions carry equal marks.
DED JIACIR TIRT SOFND.

a) Explain the development of Forensic Medicine in India.
Lo0BTY méoi) aﬁe;m’éémi) ébzsaqgﬁcﬂ 23980, NWOA.
OR/®3&0

t? Explain the Medical Examiner’s System.

b) Whatis Inques
Celat $oD, DWOA.

HPFTe0 ToOeF Q0TTeN? Efécﬁééeob w0egFo

a) Give the characteristics and Medicolegal importance of confusions and

Incisions. _
e30R08 ©BE THEYE0D 3y TO2 MoINYYS ©FrONIS B

a‘aéoda déc%ﬁcod) msgm;g Qe&0.
OR /&3 w0
of a dead person.

he salient features of personal identification
TR0e) NI

b) Discusst
oh THSHEDHRFDIT

28 TR aséz_*&podoc'doa1 a:gjoiagé
203 8FA.

ve its models.
Q@d ®Fed ©

OR/&B @0

b) Explain “Cadaveric Spasm” and “Po

medico-legal importance?
330 DHROAZ OFD? aimgat‘ma’ 02 00300 i&gﬁgﬁg
S aimrigh, HR0R0. A T 5 eod SHBY ,

3.

a) Describe death and gi

AMGHOTVINN HFOR DR (AIAD) peenya, V0.

st mortem staining”. What are its

JE—— L Lt
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- ¢ to hanging!
Q4) a) What are the features found 10 dcasl i“swﬁ%b g W
See300m00 STRBY dordd WOH o
OR/&F? ‘ |
the characteristic signs for it.

g . ibe
b) Whatis Throttling? Descrl oded? elnie) ogtaﬁ'ﬁ 236030?19.15;4 Qﬁ%

237 3,235 DB000T TR

ined 1 by chemical tests?
minedna Laboratory
a 8 a‘jﬁfﬁﬁ@ PO &)edéamk{ 3

5) a) Howis Semen X
R ToFo0ND

2,00 To3REOODTY

JoesROR30?
OR /&30

he use of DNA profiling in the identifi
9 8. 290 YV

b) Explaint cation of person,
xplain T
S gob, IR Fodpenaa, QZoy,

w poisons have been classified.

'06) a) What is Toxicology? Ho _
ned Ien ﬁﬂreﬁa:@’%&gﬁ?

&)a&m::; D0TTEN? DX
OR/®B =0

What are the signs, symptoms and medicolegal importance of poisoning

due to Datura and Barbiturates.
TER0 WP WenF T, VT ATRIT ARTVIICOI BN,

ogeaned DB méob—ddt%ﬁeojo maggﬂb odso)R)?

b)
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| 15” Gemester B.A./B.Sc. Examination, November/December 2017

(Semester Scheme)
PSYCHOLOGY
Life Span Development

- e s s s e e S

rime: 3 Hours Max.Marks:60
pstructions: 1)  Choose any one question from four questions each.
dece Ty ggmen Few 20008 ev30XL.
2)  Choose any two fron fifth question.
wode ZIA aveY TR 20FTg VZOA.
3)  All questions carry equal marks.
DR JIACNe TIRT E208/15.

1) Briefly explain nature and issues of life span development.
2eDTOIHOD BETeioD FTRT &WOB DTOTOBNTR, FOFTeooN DSOX.
OR/©&@ w0
Explain different methods used to study life span development.

BeTTODH QWIS SHOWRBY WIDT 23 QORRERY, DTOR.

) Describe patterns of growth during Infancy and childhood.
ZFI B 250TRBHOD BIBBROD SHRINTRY, (JPWO) TP A,
OR/&@m0

Explain the concepts of death and dying.

Y B TOSNDBODH TOTORNEI), QDROA.

PT.O.

iR
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1 024 0 evelopment. 63

. - . -tive d
Q3) Explain piagetian theory of Cogh! DWOA.

o Oéd&d
203RHEV[T 259738 SeZedriod A0

Briefly describe cognitive changes 112

SenSBneRd, RO3ToN

Q4) Explain moral development during adolescence.

SO §38308 BTRiodRy HF0.
OR/eg3550

Describe socio-emotional development during adulthood.

TODMTHOD FBLB-FBEMOYT BITeBRODR, SESF A

Q5) Write short notes on any two.

| 03303 R DTEE OTH LT3 20Towd.

a) Erickson’s psycho social perspectives.

OF R
QOFAITIT DI TZ0IE deeéiracdﬁ%.

b) Disabilities during prenata] period

=T BT OB000O3 ogsg,
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[ ) Language development in Infancy.

zsdziaa,'gobg PO WYTIA,

d) Self Concept.

o TOBOI.
3 [%)
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er/December 2017
III Semester B.A./B.Sc. Examination, Novcmb
(Semester Schc$0)
PSYCHOLOG
Social Processes (Rivesed Syllabus)
Max.Marks:6(

Time: 3 Hours . om each
. ; ting one Jr ;
Instructions: 1)  Answer five questions, selec gw _g;%'m’n’ w3023,

F3cipomoey IR 2.00008 &

2)  All questions carry equal marks.
oep e TR GOFTED

Q1) Define social Psychology? Discuss it’s scope.
B DEReDEE, TP OTT TURODI, BRFA.
OR/&s5 w0
How do we perceive ourselves? Explain self Presentation and self experiences.
SN TP Bert BRBDPORIR? FTFWB W) Z-ULINGT, Ao,

02) Explain ‘Social Interaction’. Describe any two modes of social interaction.

HREE TOFSFoob, DR, MRS TOFTIRFHCH PR
STR> Trorvad, Ao,

OR/&@z
Define interpersonal attraction. Discuss sociometry,
©OB0* FoDEE SETFROD), ABRA. B30z mmo&m* DTOR.

03) Define Leadership. Describe the types of Leadership in brief

DOODEI[R, ATRA. SR0DEZ acjﬁeéabi
OR/&E e

What is a group? Explain Deindividuation and socjg]

AT H0TTERD? WBWEE ©Z03esg
; 675 Y POty ot

NOETION DR,

loaﬁng_

7k
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0 pescribe Prejudice. Explain it’s causes.
ZRFFRBID, DTOA. dasf,_ax TS F BT TooNYE), DFOR.
OR/#@w0
What are attitudes. Explain the formation and change of attitudes.
DIRELPIND  (VPBE) D0TTeD? IRy d.ramrirae;%aﬁ )
WDOOBB/NGR), D[OX.

) Define community mental health. Explain how HIV awareness can be brought.
ABNT0R [RTAT SCRENTI), ITRJA. Bt 0.0. 0 Wi, Jen

mﬁoama@maa DW0A.
OR/eo53550

What is conflict Resolution. Describe the techniques of reducing conflicts &

tension.
(TRFB) A0 20TTE? W3B W) TRFBATIY Qe00=OD

ROTARF

ogtea, SR,

-5-
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10240 N Ovembcr/December 2017
III Semester B.A./B.Sc. Examination, e)
(Semester Schem
PSYCHOLOGY bl
Social Processes (O1d Sy
Max.Marks:¢
Time: 3 Hours , cting one from each.
Instructions: 1)  Answer five questions e oridod, &5 Fgnen vy,

Fsatpomd FYoLE e & o
2)  All questions carry equal marks.

2eR g% one P 7eocing eOFNE.

Q1) Define social Psychology. Explain it’s s¢OPe- 9
TRTEE FHoHODRY, ABH&A. YTO TR0 DBOA.
OR/&F&

Explain the concepts of self presentation and self experiences.

3TIUR I Z-oDHPET BOIOROD o0

Q2) Define social interaction. Explain the importance of language in socialization,
BRRF BOFTERFODODY, JTRDA. R3me3esoee [FoHoRY RHod
RN DI0DI), DFOA.

OR/&3=

Explain the interpersonal attraction theories in brief.
©030° Fobss GTRFROD ATOIBI), ROFTN DTJOR.

03) What is the basis of social power? Explain exchange theory.
XOTRWE JIOD SHIT 0TBED ? DATOD hm‘%oéasdod WWOR.
OR/&3 =0
What is collective behaviour. Explain fashions, fads and hysteria

ALY TIFS S0TTERD? ABNWMWOE, Nedy Rz RRRE TN
DSOA. | - )
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) pefine aggression. Suggest measures to reduce aggression.
! &330e0 QORLA. STETI, IRDRRRS DPOINGI), RRA,
OR/eoxTa0
what is prejudice. Describe the emotional and social sources of prejudice.

SRRFRFE D0TTEN? TRTFRBTY evotzmdss HOBTOIT B FOTIET
moﬁ%"?\b& DDOR.

5) What is the role of social psychology in energy conservation? Explain.
TORIVDT mdmeamq;csg 33 ﬁodgﬁod) T0Z, AN? DWOA.

OR/e&o@es0

Explain the various problems in Indian society leading to conflict.
£7008e0D ADBRBTY FREBR OB IRRZREDT AAG AT, DTOA.

x x X

v
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Total No. of Pages : 3

I Semester B.A. Examination, November/December 2017

(Semester Scheme) (Freshers of Nov./Dec. 2017 and Onwards)
COMMUNICATIONAND JOURNALISM
Media Laws and Ethics

Time : 2% Hours Max. Marks : 60
Instructions: 1)  Answer any five questions Jrom Part - A.

M-’ AT FJGnen evzos.

2)  Answer any four questions from Part - B, Answer any three from
Part - C.

G-’ o) maT e ey, g§ﬂ¢ﬂ w303y Pom-2”
oRYTER 00 VIO

PART - A

>N -

. Answer any FIVE questions. ' [5x2=10]
03 OT3 R 0TY, [P 230X

Q1) Article 19 (1) (a).
adbz%ed 19 (1) (a).

02) Slander.
0L, 3 SODTR.

03) R.T.IL
&0°.83..

04) Official Secrecy.
©QE3 OB,

PT.O.

L.l ¢ %
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Q5) Freedom of expression.
URFY 7303,

(6) Obscene Photo.
©3t0 gRodms,

Q7) Civic contempt of court.
ToridE TO3PON VT

PART - B
N -

II. Answer any Four Questions.
CIRPmende TYF S LIOA.

08) Concept of Freedom of the press.
BéTo MWBOZ,, TOTVS.

09) Sedition.
Do B e,

010)Cyber law.
AT TOSBR.

011)Criminal contempt of Court.
ToDB TLIPUOD DOTS.

Q12)The copyright act.
ROBRRR, Fo0NT.

Q13)Parliamentary privileges.
TORIILD IBORND.

[4 x5 =20
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WA - 2

g, Answer any Three questions.
03708 TOTTR m:ja; d]aé Qm;?:a;\,.

M-3071

[3 x 10 = 30]

14)Explain the professional etihics of a journalist.
FZFSFINTLeTT [ 3TT e RoLInes, HTOR.

)15)Discuss the status of the press during emergency period.
DDF TOYS ATOLTIG B8ENY ARVBRIBI, BBFA.

[6)State the major recommendations of first press commission.
TED T 3RNE TS HPTRMNT, 39A.

7)Delineate the rules and regulations to be followed to start a newspaper.
3,8 BESFRROT, STORILD DTOTBTT ded AODIATRY, DITIRA.

§)Write the significance of Right to Information Act - 2005.
2005 O SP&SE IR, WRIODIT RBSE, 2080200.

EEE
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